
N = 1753
1753 circles in a circle

radius =   0.022386360721
ratio  =  44.670056578202

density  = 0.878514453540
contacts = 4556

 E.SPECHT
20-APR-2014

N = 1754
1754 circles in a circle

radius =   0.022384976093
ratio  =  44.672819655071

density  = 0.878906869341
contacts = 4271

 E.SPECHT
20-APR-2014

N = 1755
1755 circles in a circle

radius =   0.022378509498
ratio  =  44.685728514374

density  = 0.878899941331
contacts = 4564

 E.SPECHT
21-APR-2014

N = 1756
1756 circles in a circle

radius =   0.022370824106
ratio  =  44.701080087952

density  = 0.878796822202
contacts = 3758

 E.SPECHT
21-APR-2014

N = 1757
1757 circles in a circle

radius =   0.022362784654
ratio  =  44.717150188419

density  = 0.878665399547
contacts = 4638

 E.SPECHT
22-APR-2014

N = 1758
1758 circles in a circle

radius =   0.022351201857
ratio  =  44.740323423422

density  = 0.878255002615
contacts = 4410

 E.SPECHT
22-APR-2014

N = 1759
1759 circles in a circle

radius =   0.022358530073
ratio  =  44.725659366861

density  = 0.879330902117
contacts = 4634

 E.SPECHT
10-JUN-2014

N = 1760
1760 circles in a circle

radius =   0.022338854156
ratio  =  44.765053436325

density  = 0.878282952806
contacts = 3491

 E.SPECHT
23-APR-2014

N = 1761
1761 circles in a circle

radius =   0.022327431556
ratio  =  44.787955009831

density  = 0.877883505976
contacts = 3304

 E.SPECHT
19-APR-2014

N = 1762
1762 circles in a circle

radius =   0.022322474015
ratio  =  44.797901850685

density  = 0.877991994937
contacts = 3381

 E.SPECHT
20-APR-2014

N = 1763
1763 circles in a circle

radius =   0.022319418746
ratio  =  44.804034163941

density  = 0.878249826893
contacts = 3428

 E.SPECHT
20-APR-2014

N = 1764
1764 circles in a circle

radius =   0.022317391026
ratio  =  44.808104980987

density  = 0.878588322063
contacts = 4259

 E.SPECHT
20-APR-2014


